

Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

H9) By \vec{x} , we always denote the last 3 components of $X =: x$

4-vectors
5/5

$$\begin{aligned}
 a) \phi(x) &= \int d^4k \delta(k^2 - m^2) g(k) e^{-i(k \cdot x)} \\
 &= \int d^3k \int dk^0 \delta(k_0^2 - m^2) g(\vec{k}) e^{-i(k_0 x^0 - \vec{k} \cdot \vec{x})} \\
 &= \int d^3k \int dk^0 \delta(k_0^2 - m^2) g(\vec{k}) e^{-i(k_0 x^0 + \vec{k} \cdot \vec{x})} \\
 &= \int d^3k \int dk^0 \delta((k^0)^2 - (k^i k^i + m^2)) g(\vec{k}) e^{-i(k^0 x^0 - k^i x^i)} \\
 &= \int d^3k \int dk^0 \delta((k^0)^2 - E_{\vec{k}}^2) g(\vec{k}) e^{-i(k^0 x^0 - k^i x^i)}
 \end{aligned}$$

$$E_{\vec{k}} = \sqrt{|\vec{k}|^2 + m^2} = \sqrt{k^i k^i + m^2}$$

δ -Distribution for Compositions $\delta(g(x))$

$$= \int d^3k \int dk^0 \frac{1}{2|E_{\vec{k}}|} \left\{ \delta(k^0 - E_{\vec{k}}) + \delta(k^0 + E_{\vec{k}}) \right\} g(\vec{k}) e^{-i(k^0 x^0 - k^i x^i)}$$

$$E_{\vec{k}} > 0 \Rightarrow \int d^3k \frac{1}{2E_{\vec{k}}} \left\{ g(\vec{k}) e^{-i(E_{\vec{k}} x^0 - \vec{k} \cdot \vec{x})} + g(-\vec{k}) e^{-i(-E_{\vec{k}} x^0 - \vec{k} \cdot \vec{x})} \right\}$$

$$x^0 = ct = t \Rightarrow \int d^3k \frac{g(\vec{k})}{2E_{\vec{k}}} e^{i(\vec{k} \cdot \vec{x} - E_{\vec{k}} t)} + \int d^3k \frac{g(-\vec{k})}{2E_{\vec{k}}} e^{i(\vec{k} \cdot \vec{x} + E_{\vec{k}} t)}$$

$$= \int d^3k \frac{g_+(\vec{k})}{2E_{\vec{k}}} e^{i(\vec{k} \cdot \vec{x} - E_{\vec{k}} t)} + \int d^3k \frac{g_-(\vec{k})}{2E_{\vec{k}}} e^{i(\vec{k} \cdot \vec{x} + E_{\vec{k}} t)}$$

using $g_{\pm}(\vec{k}) := g(\pm E_{\vec{k}}, \vec{k})$

$$= \phi_+(x) + \phi_-(x)$$

using $\phi_{\pm}(x) := \int d^3k \frac{g_{\pm}(\vec{k})}{2E_{\vec{k}}} e^{i(\vec{k} \cdot \vec{x} \mp E_{\vec{k}} t)}$

How to denote that d^3k is only the spatial space?

$k_i k_i = k^i k^i$
 $k_0 x_0$ or $k^0 x^0$?

$p \in K$? ($\Rightarrow p \in E$)

prove this by $\delta(k^2 - m^2) = \delta((k-x)(x+m))$?

Important whether $g(\pm E_{\vec{k}}, \vec{k})$ or $g(\vec{k})$?

$\partial_\mu \partial^\mu$ no effect with c.c.!

b) $j^\mu = \frac{i}{2m} \left\{ \phi^* (\partial^\mu \phi) - (\partial^\mu \phi^*) \phi \right\}$ with $(\square + m^2)\phi = 0 \Rightarrow (\square + m^2)\phi^* = 0$

$\Leftrightarrow \partial_\mu \partial^\mu \phi = -m^2 \phi, \partial_\mu \partial^\mu \phi^* = -m^2 \phi^*$

$$\partial_\mu j^\mu = \frac{i}{2m} \left\{ (\partial_\mu \phi^*) (\partial^\mu \phi) + \phi^* (\partial_\mu \partial^\mu \phi) - [(\partial_\mu \partial^\mu \phi^*) \phi - (\partial^\mu \phi^*) (\partial_\mu \phi)] \right\}$$

$$= \frac{i}{2m} \left\{ (\partial_\mu \phi^*) (\partial^\mu \phi) - (\partial^\mu \phi^*) (\partial_\mu \phi) + \underbrace{\phi^* (-m^2 \phi) - (-m^2 \phi^*) \phi}_{-m^2 \phi^* \phi + m^2 \phi^* \phi = 0} \right\}$$

$$= \frac{i}{2m} \left\{ (\partial_\mu \phi^*) (\partial^\mu \phi) - (\partial^\mu \phi^*) (\partial_\mu \phi) \right\}$$

$$= \frac{i}{2m} \left\{ (\partial_\mu \phi^*) (\eta^{\mu\nu} \partial_\nu \phi) - (\partial^\mu \phi^*) (\partial_\mu \phi) \right\}$$

$$= \frac{i}{2m} \left\{ (\partial^\nu \phi^*) (\partial_\nu \phi) - (\partial^\mu \phi^*) (\partial_\mu \phi) \right\} = 0$$

Formal proof with trace ops? Or why can operate to the left side?

$$c) \|\Phi\|_c^2 := \int d^3x j^0(t, \vec{x}) = \frac{i}{2m} \int d^3x [\phi^*(t, \vec{x}) (\partial^0 \phi)(t, \vec{x}) - (\partial^0 \phi^*)(t, \vec{x}) \phi(t, \vec{x})]$$

Normalization ϕ ?
Index c ?

$$\Rightarrow \frac{\partial}{\partial t} \|\Phi\|_c^2 = \int d^3x \partial_0 j^0(t, \vec{x}) \stackrel{b)}{=} - \int d^3x \partial_i j^i(t, \vec{x}) = - \int d^3x \vec{\nabla} \cdot \vec{j}(t, \vec{x})$$

$\partial^0 \phi$ into \mathbb{R}^2

More ∂ in integral?

$$\stackrel{\text{Gauss theorem}}{\rightarrow} = - \int_S d\vec{A} \cdot \vec{j}(t, \vec{x}) = 0 \text{ as } S := \{x \in \mathbb{R}^3 \mid \|x\|_2 = I, I = \lim_{x \rightarrow \infty} x\}$$

and ϕ needs to be normalizable, so

$\partial_i j^i = \pm \vec{\nabla} \cdot \vec{j}$?

that it has to be rapidly decreasing for large $\|x\|$. Therefore $\vec{j} = \frac{i}{2m} [\phi^* (\vec{\nabla} \phi) - (\vec{\nabla} \phi^*) \phi]$ sphere?

How to denote that sphere?

has to be as well.

\vec{j} rapidly decreasing

$$\Rightarrow \partial_t \|\Phi\|_c^2 = 0 \text{ and } \|\Phi\|_c^2 \text{ time independent}$$

d) For different way, see 2nd sheet

$$\|\Phi\|_c^2|_{t=0} = \frac{i}{2m} \int d^3x \left[\Phi^*(0, \vec{x}) (\partial^0 \Phi)(0, \vec{x}) - (\partial^0 \Phi^*)(0, \vec{x}) \Phi(0, \vec{x}) \right]$$

From a) we got: $\Phi^*(0, \vec{x}) = \Phi_+^*(0, \vec{x}) + \Phi_-^*(0, \vec{x})$

and $(\partial^0 \Phi)(0, \vec{x}) = \partial_t \Phi_+(0, \vec{x}) + \partial_t \Phi_-(0, \vec{x})$
 $= -iE_k (\Phi_+ - \Phi_-)$

because $\partial_t \Phi_{\pm}(t, \vec{x})|_{t=0} = \int d^3k \frac{g_{\pm}(\vec{k})}{2E_k} \partial_t e^{i(\vec{k}\cdot\vec{x} \mp E_k t)}|_{t=0}$
 $= \mp iE_k \Phi_{\pm}(0, \vec{x})$ (analogue for c.c.)

Now calculation for c.c. or just c.c. equation?

$$\begin{aligned} \rightarrow \|\Phi\|_c^2|_{t=0} &= \frac{i}{2m} \int d^3x \left\{ (\Phi_+^*(0, \vec{x}) + \Phi_-^*(0, \vec{x})) \cdot (-iE_k)(\Phi_+(0, \vec{x}) - \Phi_-(0, \vec{x})) \right. \\ &\quad \left. - (iE_k)(\Phi_+^*(0, \vec{x}) - \Phi_-^*(0, \vec{x}))(\Phi_+(0, \vec{x}) + \Phi_-(0, \vec{x})) \right\} \\ &= \frac{E_k}{2m} \int d^3x \left\{ |\Phi_+(0, \vec{x})|^2 - |\Phi_-(0, \vec{x})|^2 - \Phi_+^*(0, \vec{x}) \Phi_-(0, \vec{x}) \right. \\ &\quad \left. + \Phi_-^*(0, \vec{x}) \Phi_+(0, \vec{x}) + |\Phi_+(0, \vec{x})|^2 - |\Phi_-(0, \vec{x})|^2 \right. \\ &\quad \left. + \Phi_+^*(0, \vec{x}) \Phi_-(0, \vec{x}) - \Phi_-^*(0, \vec{x}) \Phi_+(0, \vec{x}) \right\} \\ &= \frac{E_k}{2m} \int d^3x \left\{ 2|\Phi_+(0, \vec{x})|^2 - 2|\Phi_-(0, \vec{x})|^2 \right\} \\ &= \frac{E_k}{m} \int d^3x \left\{ \Phi_+(0, \vec{x}) \Phi_+^*(0, \vec{x}) - \Phi_-(0, \vec{x}) \Phi_-^*(0, \vec{x}) \right\} \quad (*) \end{aligned}$$

Now we calculate:

Put * into the integral?

$$\begin{aligned} \int d^3x \Phi_{\pm}(0, \vec{x}) \Phi_{\pm}^*(0, \vec{x}) &= \int d^3x \int d^3k \frac{g_{\pm}(\vec{k})}{2E_k} e^{i(\vec{k}\cdot\vec{x})} \int d^3k' \frac{g_{\pm}^*(\vec{k}')}{2E_{k'}} e^{-i(\vec{k}'\cdot\vec{x})} \\ &= \int d^3x \int d^3k \int d^3k' \frac{g_{\pm}(\vec{k}) g_{\pm}^*(\vec{k}')}{4E_k E_{k'}} e^{i\vec{x}\cdot(\vec{k}-\vec{k}')} \\ &= \int d^3k \int d^3k' \frac{g_{\pm}(\vec{k}) g_{\pm}^*(\vec{k}')}{4E_k E_{k'}} \underbrace{\int d^3x e^{i\vec{x}\cdot(\vec{k}-\vec{k}')}}_{\text{representation of the } \delta\text{-distribution in sense of Fourier-transforms}} \\ &= \int d^3k \int d^3k' \delta(\vec{k}-\vec{k}') (2\pi)^3 \frac{g_{\pm}(\vec{k}) g_{\pm}^*(\vec{k}')}{4E_k E_{k'}} \\ &= \int d^3k \frac{|g_{\pm}(\vec{k})|^2}{4E_k^2} (2\pi)^3 \end{aligned}$$

Could there also be an $f(\vec{x})$ in integral? $\int d^3x f(\vec{x}) e^{i(\vec{k}\cdot\vec{x})}$ and still work?

Now, for (*) we get:

$$\begin{aligned} \|\phi\|_c^2(\pm=0) &= \frac{E_k}{m} \int d^3x \left\{ \phi_+(0, \vec{x}) \phi_+^*(0, \vec{x}) - \phi_-(0, \vec{x}) \phi_-^*(0, \vec{x}) \right\} \\ &= \frac{E_k}{m} \left\{ \int d^3k \frac{(2\pi)^3}{4E_k^2} |g_+(\vec{k})|^2 - \int d^3k \frac{(2\pi)^3}{4E_k^2} |g_-(\vec{k})|^2 \right\} \\ &= \frac{1}{2m} \int d^3k \frac{(2\pi)^3}{2E_k} |g_+(\vec{k})|^2 - \frac{1}{2m} \int d^3k \frac{(2\pi)^3}{2E_k} |g_-(\vec{k})|^2 \\ &= \|\phi_+\|_c^2 + \|\phi_-\|_c^2 \quad \text{with} \quad \|\phi_\pm\|_c^2 := \pm \frac{1}{2m} \int d^3k \frac{(2\pi)^3}{2E_k} |g_\pm(\vec{k})|^2 \end{aligned}$$

Why is E_k outside of the integral?

e) $\|\phi\|_c^2 = \pm \frac{(2\pi)^3}{2m} \int d^4k \underbrace{\delta(k^2 - m^2)}_{\delta(k_0^2 - \vec{k}^2 - m^2)} \theta(\pm k^0) |g(k)|^2$
 $\delta(k_0^2 - \vec{k}^2 - m^2) = \delta(E^2 - (k_0^2 - m^2))$

Not starting with the result?

$$\begin{aligned} &= \pm \frac{(2\pi)^3}{2m} \int d^4k \underbrace{\delta(k_0^2 - E_k^2)}_{\frac{1}{2E_k} \delta(k_0 - E_k) \delta(k_0 + E_k)} \theta(\pm k^0) |g(k)|^2 \\ &= \pm \frac{(2\pi)^3}{2m} \left\{ \int d^4k \frac{1}{2E_k} \delta(k_0 - E_k) \theta(\pm k^0) |g(k)|^2 + \int d^4k \frac{1}{2E_k} \delta(k_0 + E_k) \theta(\pm k^0) |g(k)|^2 \right\} \end{aligned}$$

k_0 or k^0 ?

first term only contributes for \vec{x} and second only for \vec{x}

$$\downarrow \Rightarrow \pm \frac{(2\pi)^3}{2m} \int d^3k \frac{1}{2E_k} |g_\pm(\vec{k})|^2 = \pm \frac{1}{2m} \int d^3k \frac{(2\pi)^3}{2E_k} |g_\pm(\vec{k})|^2 = \|\phi_\pm\|_c^2$$

d) Alternative way without $E_k = \sqrt{\hbar^2 k^2 + m^2}$ out of integral:

$$|\phi(t, \vec{x})|^2|_{t=0} = \frac{1}{2m} \int d^3x \left\{ \phi^*(0, \vec{x}) (\partial^0 \phi)(0, \vec{x}) - (\partial^0 \phi^*)(0, \vec{x}) \phi(0, \vec{x}) \right\}$$

From a) we get: $\phi(0, \vec{x}) = \phi_+(0, \vec{x}) + \phi_-(0, \vec{x})$ (analogue for c.c.)

$$\begin{aligned} \text{and } (\partial^0 \phi)(0, \vec{x}) &= \partial_t \phi_+(0, \vec{x}) + \partial_t \phi_-(0, \vec{x}) \\ &= \int d^3k (-i) \frac{g_+(\vec{k})}{2} e^{i(\vec{k} \cdot \vec{x})} + \int d^3k (i) \frac{g_-(\vec{k})}{2} e^{i(\vec{k} \cdot \vec{x})} \end{aligned}$$

$$= -i(\tilde{\phi}_+ - \tilde{\phi}_-) \quad (\text{analogue for c.c.})$$

on arguments $(0, \vec{x})$ are left out

$$\rightarrow |\phi(t, \vec{x})|^2|_{t=0} = \frac{i}{2m} \int d^3x \left\{ (\phi_+^* + \phi_-^*)(-i)(\tilde{\phi}_+ - \tilde{\phi}_-) - (i)(\tilde{\phi}_+^* - \tilde{\phi}_-^*)(\phi_+ + \phi_-) \right\}$$

$$= \frac{1}{2m} \int d^3x \left\{ \phi_+^* \tilde{\phi}_- - \phi_+^* \tilde{\phi}_+ + \phi_-^* \tilde{\phi}_+ - \phi_-^* \tilde{\phi}_- + \tilde{\phi}_+^* \phi_+ + \tilde{\phi}_+^* \phi_- - \tilde{\phi}_-^* \phi_+ - \tilde{\phi}_-^* \phi_- \right\}$$

$$= \frac{1}{2m} \int d^3x \left\{ \iint d^3k d^3k' \begin{aligned} & \frac{g_+^*(\vec{k})}{2E_k} e^{-i\vec{k} \cdot \vec{x}} \frac{g_+(\vec{k}')}{2} e^{i\vec{k}' \cdot \vec{x}} \\ & - \frac{g_+^*(\vec{k})}{2E_k} e^{-i\vec{k} \cdot \vec{x}} \frac{g_-(\vec{k}')}{2} e^{i\vec{k}' \cdot \vec{x}} \\ & + \frac{g_-^*(\vec{k})}{2E_k} e^{-i\vec{k} \cdot \vec{x}} \frac{g_+(\vec{k}')}{2} e^{i\vec{k}' \cdot \vec{x}} \\ & - \frac{g_-^*(\vec{k})}{2E_k} e^{-i\vec{k} \cdot \vec{x}} \frac{g_-(\vec{k}')}{2} e^{i\vec{k}' \cdot \vec{x}} \\ & + \frac{g_+^*(\vec{k}')}{2} e^{-i\vec{k}' \cdot \vec{x}} \frac{g_+(\vec{k})}{2E_k} e^{i\vec{k} \cdot \vec{x}} \\ & + \frac{g_+^*(\vec{k}')}{2} e^{-i\vec{k}' \cdot \vec{x}} \frac{g_-(\vec{k})}{2E_k} e^{i\vec{k} \cdot \vec{x}} \\ & - \frac{g_-^*(\vec{k}')}{2} e^{-i\vec{k}' \cdot \vec{x}} \frac{g_+(\vec{k})}{2E_k} e^{i\vec{k} \cdot \vec{x}} \\ & - \frac{g_-^*(\vec{k}')}{2} e^{-i\vec{k}' \cdot \vec{x}} \frac{g_-(\vec{k})}{2E_k} e^{i\vec{k} \cdot \vec{x}} \end{aligned} \right\}$$

$$= \frac{1}{2m} \iint d^3k d^3k' \left\{ \frac{g_+^*(\vec{k}) g_+(\vec{k}')}{4E_k} \int d^3x e^{i\vec{x}(\vec{k}' - \vec{k})} - \frac{g_+^*(\vec{k}) g_-(\vec{k}')}{4E_k} \int d^3x e^{i\vec{x}(\vec{k}' - \vec{k})} \right.$$

$$+ \frac{g_-^*(\vec{k}) g_+(\vec{k}')}{4E_k} \int d^3x e^{i\vec{x}(\vec{k}' - \vec{k})} - \frac{g_-^*(\vec{k}) g_-(\vec{k}')}{4E_k} \int d^3x e^{i\vec{x}(\vec{k}' - \vec{k})}$$

$$+ \frac{g_+^*(\vec{k}') g_+(\vec{k})}{4E_{k'}} \int d^3x e^{i\vec{x}(\vec{k} - \vec{k}')} + \frac{g_+^*(\vec{k}') g_-(\vec{k})}{4E_{k'}} \int d^3x e^{i\vec{x}(\vec{k} - \vec{k}')} -$$

$$\frac{1}{2\pi} \int d^3x e^{i\vec{x}(\vec{k} - \vec{k}')} = \delta(\vec{k} - \vec{k}')$$

$$- \frac{g_-^*(\vec{k}') g_+(\vec{k})}{4E_{k'}} \int d^3x e^{i\vec{x}(\vec{k} - \vec{k}')} - \frac{g_-^*(\vec{k}') g_-(\vec{k})}{4E_{k'}} \int d^3x e^{i\vec{x}(\vec{k} - \vec{k}')} \int d^3x$$

$$\downarrow \frac{(2\pi)^3}{2m} \int d^3k \left\{ \frac{|g_+(\vec{k})|^2}{4E_k} - \frac{g_+(\vec{k}) g_-(\vec{k})}{4E_k} + \frac{g_-^*(\vec{k}) g_+(\vec{k})}{4E_k} - \frac{|g_-(\vec{k})|^2}{4E_k} + \frac{|g_+(\vec{k})|^2}{4E_k} + \frac{g_+^*(\vec{k}) g_-(\vec{k})}{4E_k} - \frac{g_-^*(\vec{k}) g_+(\vec{k})}{4E_k} - \frac{|g_-(\vec{k})|^2}{4E_k} \right\}$$

$$= \frac{1}{2m} (2\pi)^3 \int d^3k \left\{ \frac{|g_+(\vec{k})|^2}{2E_k} - \frac{|g_-(\vec{k})|^2}{2E_k} \right\}$$

$$= \frac{1}{2m} \int d^3k \frac{(2\pi)^3}{2E_k} |g_+(\vec{k})|^2 - \frac{1}{2m} \int d^3k \frac{(2\pi)^3}{2E_k} |g_-(\vec{k})|^2$$

$$= \|\phi_+\|_c^2 + \|\phi_-\|_c^2 \quad \text{with} \quad \|\phi_\pm\|_c^2 := \pm \frac{1}{2m} \int d^3k \frac{(2\pi)^3}{2E_k} |g_\pm(\vec{k})|^2$$